ToP 1"7 "0 X,72 70 702

- MYDID PRI MPIDD RIIDINY VP
A minor or a cloth shoe are invalid, but do not invalidate

Overview

The X3 cites a dispute between 21w and the X217 12 regarding (among others)
the 77x*>1 of a minor." %X maintains that the 7%°>1 of a Jvp (even though it) is
invalid (nevertheless) it invalidates (n17010) the N2’ from receiving 012°. While the
X27Y7 12 maintain that Jop N¥°n is 2100 but it is not 7010 the M»2>. Our MO
explains the need for this NP2, since it is already a 0°Xin nP1>nn.

MooIN asks:
= )02 209 NN NIIYM 22 ININIY 9INN ON)

And if you will say; why are »Xm»w and the X39¥» %12 arguing about Jup n¥°>r -
= (88 97 M3 NAT YN 9102 1229 9NN 299 NPNI9O NN

Since this is an argument between 2'' and the 32339 in the end of 77129 wK7 P -
- 5972 2039 70 12 NYHN WY I DRMD 229 91732 29NN 70 12 NNOD YWY NIINT

For the Xn>92 there teaches, the 0°nor made the X2 of a nine year old like a
=»R% by an adult, and »''1 said they made the 1735517 of a nine year old like a ux

by an adult -
- N9 NYYYN PN NN 1339 YaN

However (infers '01n) according to the 3129 (the p"n of that Xn™72); only 782 of a

v 12 is like 71732 TnRn, and is PrRT 5V 2019, but 173%%1 of a 'v 12 is not like 91731 v3, and
is not 1rIR7 Yy 0.

mooIn bolsters his inference that according to the 13127 a JoP NX°91 is not No01>:
= NIV NNYHN YOPN I NEOINNT svn’:m:m (3,np 97 0w) NNIIN MKN 79939

! 5xmw does not actually mention a jup, but he does say that whenever the mwn states 72109 (as it does regarding a
J0p [see later in this M»oIN footnote # 5]) it is No0>.

2 9nxn (in the context of the 212° process) is the 112771 717 that a 02> makes to his 71127 (either with 703 or 70w like
by regular w17p). When a 02° makes a 7nR» to the 7172°, she can no longer be 02n»n from any of the other brothers
(only from the one who TR» wY), and if he does not want to be 02» her, she requires 7%°71 (as a Tn2°) and a v to
dissolve the an&». The same holds true if a 'v 72 VP was 712 his 72, she cannot be 02»n» to anyone else (except
this yup) and if he chooses not to be 02>n her, she requires v 7%°2n. If an adult brother was 9¥12 her, she becomes
his wife totally n"nn and requires only a va if he wishes to divorce her (no 7¥°%m).

? If an adult 02> gave a 3 to the 72, she cannot be 02»nx to any of the brothers at all, but she still requires 7%
According to n" the same rule applies to the %71 of a 'v 12 (who is a jup) that he is 70 her PrR7 2.

* We see here that according to n"1 a ("u 12) TP "¥°%0 is 2010 and the inference is that according to the 1127 it is not
Som.
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And in 773951 nmx» pas, regarding the 73w» which states that a 7n2° who receives

301 from a Jup is 791083 regarding this mwn -
- %0199 10 NWYN PN DIININ D3N TAN PR 39 5927 9T ININIY N

bx»w said this is the opinion of »'', however the 2°»21 maintain that a n3"n
JuP is meaningless and she can be 010 to the other brothers —

N1B0IN answers:
- Tmawnn PUHa 53599 XINT PNY 13939 N

And the >''7 answers; that here 7X1nw and the n"2 are arguing as to the meaning

of the language of the /71w when it writes 7710 -
- 9IN1 2399 PINN NINNY NYDIDY NIV NNWYN PYYD 1YY YNRWN HNNYYT

For X2 understands the 2% of 7205 nnxY>n to mean that the Jup nN¥°5n is
7rRT %y nveww, and that 7aw» is according to »'' -
- 9985 9295 199 X9P20T DIV N
But not because that "X1w agrees with »''1 -
$13395 NONNY NHDID NN NIV 929V INY YHRWN NIIYN )29

And the »''2 rightfully understand 72122 that it is an invalid 7%°91, and it is not
TRRT YV n9eID, so the 7awn can be according to the j320.

Summary
XM and the X279y °12 argue how to interpret 72109 in the mwn (whether it is N0

or not), both agree however like the 13127 that Jup N¥°%1 is not nN019.

Thinking it over

If “xmw agrees with the 13127,'" why do the 82797 12 argue with him; obviously the
X27¥n °12 also agree that many times when the mwn writes 72109 it is %Y N0
0°nix7, so why should it be different by Jop n¥*on?!'?

® This means (as '0)n understands it now), she can no longer be 22»n» to anyone else (and obviously she requires
7%°%1 from an adult brother). See (however) later in this nmooin.

" The texts in our N1 there reads 29 MR 777 27 MK (not XMW nR). See the 0"wn nMon there.

¥ In any event we see that the issue whether a Jop N¥*>n is RN ¥ NP0 is a NPY2M» between the 1127 (not Y019) and
n"1 (701); why the need for an additional o°X7 %K NP17nn between 2XMY (who agrees with 1) and the ¥27wn °1a
(who follow the 7127)?!

? This is referring to the 73wn in M»2> on 2,77 which states, ‘7999 ANXM VRS NENM’ (see footnote # 5).

"% Tt would seem unusual that YXmw sides with »"2 against the 01 (especially since he says 2731 %ax »"3 ™27 7
"127). See ‘Thinking it over’.

' See footnote # 10.

12 See apy> nxon.
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